CHAPTER 6: DECIMALS TEST BANK
Matching:

	A.) Linear Model
	B.) Area Model
	C.) Dividend
	D.) Divisor

	E.) Quotient
	F.) Remainder
	G.) Scaffolding
	H.) Repeating Decimals

	I.) Terminating Decimal
	
	
	


_______  1. A method of division where different partial quotients are first computed, then stacked, and then 

                    combined. 

_______  2. A mathematical model that uses a number line. 

_______  3. A decimal in which a cycle of one or more digits is repeated.  

_______  4.  The quantity by which another quantity, the dividend, is to be divided. 

_______  5. A quantity to be divided by the divisor.  

_______  6.  When the quotient of a division problem contains a remainder of zero.  
_______  7.  A mathematical model based on the area of a rectangle used to represent fractional parts of   

                     a whole.  

_______  8.  The number left over when one integer is divided by another. 

_______  9.  The end result in a division problem.  

6.10. Which of the following sets of numbers is in order from least to greatest?

a) 0.65, 0.75, 0.54, 1.1



c) 1.1, 0.75, 0.65, 0.54


b) 0.54, 0.65, 0.75, 1.1



d) 0.54, 0.75, 0.65, 1.1
6.11. Which of the following sets of numbers is in order from least to greatest?


a) -0.2, -0.18, -1.8, 0



c) -1.8, -0.2, -0.18, 0


b) -0.18, -0.2, -1.8, 0



d) 0, -0.2, -1.8, -0.18

6.12. In which quadrant is the point (-0.2, 0.3)?


a) first


b) second

c) third

d) fourth

6.13. Compute the following:
a) 0.34 – (-0.5) = __________________
b) -0.7 + 1.2 = ____________

c) -1.2 + 0.3 – 0.4 = _________________

6.14. Convert 12.35 centimeters to meters:

a) .1235 meters

b) 1.235 meters

c) .01235 meters
d) 12.35 meters

6.15. Compute the following:
a) (0.2)(1.3) = ___________________

b) (-0.4)(0.2) = ___________
c) (0.15 – 0.23)(2.6) = ______________

6.16. Between which two integers is the following product:    (1.284)(102.31)


a) 10 and 100
         b) 100 and 200         c) 200 and 300         d) 300 and 400

6.17.  Harold paid $1.40 for 20 sticks of gum. How much is each stick worth?


a) $0.28

b) $.70


c) $.06


d)$.07
6.18. Compute the following:
a) 3 ÷ 8 = __________________

b) 7 ÷ 40 = _________________

c) 12 ÷ 48 = _______________
d) 
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2÷ 5










2

¸

5

= ___________________
e) 
[image: image2.emf]


0.25 ⋅0.15










0.25

×

0.15

 = ___________________
f) 
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3.4× 7










3.4

´

7

= __________________
g) 60(4.5)  = ________________
h) 
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6.19. Which of the following is equivalent to 3.9 ÷ 1.5?


a) 3.9 ÷ 15

b) 390 ÷ 15

c) 39 ÷ 1.5

d) 39 ÷ 15
6.20. What is the area of a rectangle that is 0.2 feet long and 6.45 feet wide?


A)  12.9 ft.2

B)  1.29 ft2

C)  129 ft.2

D)  12.90 ft.2
6.21. Jake bought 5 new CDs that were on sale for a cost of 3 CDs for $33.33. He also bought a set of headphones for $8.79. What is the total amount he spent?


a)  $64.34

b)  $55.55

c)  $42.12

d)  $24.20

6.22. Caroline ran the 50–yard dash in 15.92 seconds. Shawna ran it in 14.83 seconds. How much faster did Shawna run the dash than Caroline?


a)  .79 seconds

b)  1.09 seconds

c)  1.19 seconds

d)  .99 seconds
Use the following information for problems 30-32:

Office Mart sells highlighters for $1.09 and permanent markers for $0.89. Your boss has given you $20.00 to spend on supplies.
6.23. How many highlighters can you buy? How much change will you receive?

6.24. How many permanent markers can you buy? How much change will you receive?
6.25. If you buy two highlighters, how many permanent markers will you be able to buy with the money you have left? How much change will you receive?
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6.26. The table below shows the number of minutes Steve used his cell phone each month during a     4-month period.

	Month
	Number of Minutes

	January
	305

	February
	303

	March
	303

	April
	304


Steve pays a monthly fee of $50 for a 300-minute plan plus $0.35 for each minute over 300.  What was the total amount Steve paid for these 4 months, not including tax?

A $140

B $205.25

C $205.50

D $235

6.27. Ernest bought one of each of the following food items at the grocery store.

	Item
	Price

	Milk
	$2.75

	Chips
	$2.00



	Bread
	$1.80

	Cheese
	$3.50

	Ham
	$4.50


If Ernest was charged $17.30, for which item did the cashier accidentally charge him twice?


F 
Milk

G
Bread


H 
Chips

J
Cheese

6.28. Melissa bought lunch for herself and 2 friends.    The cost for each lunch was between $4.55 and $6.90, including tax.  Which of the following could    be the total cost of the lunches that Melissa bought?

A $10

B $13
C $17

D $25


6.29. Use the area model to find the product of   
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